ATLANTIS EXIM PVT. LTD.

26/5, INDIRA VIKAS COLONY, DELHI - 110 009
Tel.: +91-11-27604447 « Fax : +91-11-27601743
E-mail : atlantisindia@gmail.com * Website : www.atlantisexim.in

PRICE LIST - 11 W.E.F - 01-04-2014

COUPON

S.NO. ITEM DESCRIPTION PER BOX RATES QTY.
TEMPERED SPRING PINS
H-1 FRONT SPRING PIN TATA 1210-D (TEMPERED) 5 126.00 EACH
H-2 REAR SPRING PIN TATA 1210-D (TEMPERED) 5 160.00 EACH
H-3 REAR SPRING PIN LEYLAND 370 (TEMPERED) 5 130.00 EACH
INDUCTION HARDENED SPRING PIN SECTION (EN-8)
TATA 1210 SE, 1612, 1510
H-4 FRONT SPRING PIN 1210-D 5 136.00 EACH
H-5 REAR SPRING PIN 1210-D 5 178.00 EACH
407, 608

H-10 REAR SPRING PIN 407 N/M (20X129) 5 108.00 EACH
H-11 REAR SPRING PIN 407 O/M (20X127) 5 118.00 EACH
H-12 REAR/ FRONT 407 N/M TURBO (20X130) 5 118.00 EACH
H-13 REAR SPR.PIN 407 TURBO N/M LONG (20X138) 5 130.00 EACH
H-14 REAR SPRING PIN 608, 609 (22X140) 5 142.00 EACH
H-15 FRONT SPRING PIN 608,609 BIG (20X130) 5 116.00 EACH
H-16 REAR SPRING PIN 807 (25X140) 5 146.00 EACH
H-17 REAR SPRING PIN 709 (22X140) 5 146.00 EACH
H-18 FRONT SPRING PIN 709 (22X130) 5 142.00 EACH
H-19 FRONT SPRING PIN 709 BIG (With Nut) (20X138) 5 148.00 EACH
H-20 REAR SPRING PIN 909 (25X140) 5 164.00 EACH
H-21 FRONT SPRING PIN 909 (25X135) 5 158.00 EACH
H-22 REAR SPRING PIN 1109 (25X150) 5 166.00 EACH
H-23 FRONT SPRING PIN 1109 (25X135) 5 158.00 EACH
H-24 REAR SPRING PIN TATAACE (S.NUT) (16X110) 5 100.00 EACH
H-25 FRONT SPRING PIN TATAACE (D.NUT) (16X110) 5 100.00 EACH
H-26 REAR SPRING PIN MAHINDRA DI -207 RIGHT (22X135) 5 142.00 EACH
H-27 REAR SPRING PIN MAHINDRA DI- 207 LEFT (22X112) 5 140.00 EACH
TATA 2416,2213

H-40 FRONT SPRING PIN (30X130) 4 190.00 EACH
H-41 REAR SPRING PIN BIG (35X140) 4 294.00 EACH
H-42 REAR SPRING PIN SMALL (SINGLE CUT) (35X135) 4 292.00 EACH
H-43 REAR SPRING PIN SMALL (DOUBLE CUT) (35X135) 4 292.00 EACH
H-44 REAR SPRING PIN EXTRA SMALL (35X129) 4 292.00 EACH
H-45 BELL CRANK PIN BIG (42X148) 5 376.00 EACH
H-46 BELL CRANK PIN SMALL (SINGLE CUT) (42X116) 6 334.00 EACH
H-47 BELL CRANK PIN SMALL (DOUBLE CUT) (42X116) 6 334.00 EACH
H-48 BELL CRANK PIN EX. SMALL (42X110) 6 334.00 EACH




[N RO NS N6 N ) e, e M)
©Co~NOoOOOP~,WN-O

N ¢

- O

IIII:II:IIII I:.E ITITITITITITTITXI
00 00 00 00 00 00 OO OO OO
O~NOO AP WN-0

MITSUBISHI CANTER/ JUMBO/GALAXY

FRONT SPRING PIN CANTER O/M
REAR SPRING PIN CANTER O/M
FRONT / REAR SPRING PIN 11.10
FRONT SPRING PIN JUMBO

REAR SPRING PIN JUMBO

FRONT SPRING PIN GALAXY
REAR SPRING PIN GALAXY SMALL
REAR SPRING PIN GALAXY BIG
B.C. PIN GALAXY BIG

B.C .PIN GALAXY SMALL

(28X115)
(28X135)
(28X125)
(25X140)
(30X140)
(25X140)
(35X140)
(35X155)
(42X155)
(42X120)

LEYLAND, CHEETAL, TAURAS

REAR SPRING PIN LEYLAND
REAR SPRING PIN CHEETAL / STAG

(25.4X135)
(22.2 x125)

LEYLAND TAURAS 2516 N/M

BELL CRANK PIN BIG

BELL CRANK PIN MEDIUM

BELL CRANK PIN SMALL

REAR SPRING PIN BIG

REAR SPRING PIN MEDIUM

REAR SPRING PIN SMALL

REAR SPRING PIN EX.SMALL (SINGLE CUT)
REAR SPRING PIN EX.SMALL (DOUBLE CUT)
FRONT SPRING PIN

(42X160)
(42X132)
(42X124)
(35X165)
(35X151)
(35X155)

)

)

(35X149

(S &)1 woabrprproooooarsp

AR DboO

ALUMINIUM BRONZE BUSHES SECTION
TATA 1210-D, 1612, 1312, 1516

FRONT SPRING BUSH 1210-D
REAR SPRING BUSH 1210-D
KING PIN BUSH TATA 1210

KING PIN BUSH 1312 N/M THIN
KING PIN BUSH 1312 O/M THICK

(25X30X67)
(30X35X77)

(34.90X40X46)

(38.5X44X46)

(38.25X48X46)
TATA 407, 608, 709, 1109

FRONT /REAR SPRING BUSH TATA 407
REAR SPRING BUSH TATA 608
FRONT SPRING BUSH TATA 608
KING PIN BUSH TATA 407
KING PIN BUSH TATA 608
FRONT SPRING BUSH TATA 909/1109
REAR SPRING BUSH TATA 909/1109
FRONT SPRING BUSH TATA 807
REAR SPRING BUSH TATA 807
TATA 2416 ,2213

FRONT SPRING BUSH TATA 2416
REAR SPRING BUSH TATA 2416

BELL CRANK BUSH TATA 2416 Std. Size
BELL CRANK BUSH TATA 2416 1°" O/S
BELL CRANK BUSH Big Std Size 2416
BELL CRANK BUSH Small Std Size 2416
BELL CRANK BUSH Big 1% o/s 2416
BELL CRANK BUSH Small 1* o/s 2416

(20X25X67)
(22X27X67)
(20X25X67)
(25X30X36)
(30X35X44)
(25X30X68)
(25X30X78)

(30X35X67)
(35X40X77)
(Set of 3 Pcs)
(Set of 3 Pcs)
(42X47XT77)
(42X47X57)
(42X47.5X77)
(42X47.5X77)

LEYLAND COMET /VIKING/TAURAS 2516 N/M

FRONT /REAR SPRING BUSH L/L 30.80
FRONT /REAR SPRING BUSH L/L 31.10

(25.4X30.80X76)
(25.4X31.10X76)

1560.00
1970.00
630.00
940.00
1540.00

1340.00
1560.00
1340.00

460.00

540.00
1560.00
1970.00
1560.00
1970.00

1950.00
2580.00
760.00
890.00
310.00
225.00
354.00
268.00

1960.00
1970.00




H-142
H-143
H-144
H-145
H-146
H-147
H-148
H-149
H-150

H-160

H-165
H-166

H-170
H-171
H-172
H-173
H-174
H-175
H-176

H-190
H-191
H-192
H-193

H-195
H-196

H-1100
H-1101
H-1102
H-1103
H-1104
H-1105
H-1106
H-1107
H-1108
H-1109
H-1110

H-1111

H-1112
H-1113
H-1114
H-1115
H-1116
H-1117
H-1118
H-1119
H-1120

FRONT /REAR SPRING BUSH L/L CHEETAL / STAG
FRONT SPRING BUSH LEY. 2516 N/M (25.4X31.10X76)
REAR SPRING BUSH LEY. 2516 N/M (35.540.5X75)
BELL CRANK BUSH LEY. 2516 N/M S/S (set of 3)
BELL CRANK BUSH LEY. 2516 N/M 1% o/s (set of 3)
BELL CRANK BUSH BIG s/s 2516 N/M (42X48X75)
BELL CRANK BUSH Small s/s 2516 N/M (42X48X55)
BELL CRANK BUSH Big 1% o/s 2516 N/M (42X48.5X75)
BELL CRANK BUSH Small 1% o/s 2516 N/M (42X48.5X75)

LEYLAND 709, 909 CARGO
FRONT /REAR SPRING BUSH CARGO (SILENT BLOCK)

TATA ACE/MAGIC

REAR SPRING BUSH TATAACE/MAGIC
KING PIN BUSH TATAACE

MITSUBISHI CANTER

REAR SPRING BUSH CANTER (28X34X67)

FRONT/REAR SPRING BUSH 11.10

FRONT SPRING BUSH (JUMBO) 20.16

REAR SPRING BUSH (JUMBO) 20.16

FRONT SPRING BUSH (GALAXY) 30.25

REAR SPRING BUSH (GALAXY) 30.2

B.C. CANTER (GALAXY) (Set of 3 Pcs.)
JEEP FC -150

FRONT /REAR SPRING BUSH JEEP FC-150

FRONT /REAR SHACKLE BUSH JEEP FC-150

REAR SPRING BUSH JEEP (UTILITY)

REAR SPRING BUSH MAX (HEAVY DUTY)
AMW TRUCKS

REAR SPRING BUSH
FRONT SPRING BUSH
PINION STAR WASHER KITS

TATA 1210 SE
P.S. WASHER KITS STD. SIZE 1210 SE
P.S WASHER KITS 1% O/S 1210 SE
P.S WASHER KITS 2™ O/S 1210 SE
P.S WASHER KITS 3" O/S 1210 SE
P.S WASHER KITS 4" O/S 1210 SE
P.S WASHER KITS 5" O/S 1210 SE
P.S WASHER KITS 6" O/S 1210 SE
P.S WASHER KITS 7" O/S 1210 SE
P.S WASHER KITS 8" O/S 1210 SE
P.S WASHER KITS 9" O/S 1210 SE
P.S WASHER KITS 10" O/S 1210 SE
TATA 1312

P.S WASHER KITS STD. SIZE TATA 1312

P.S WASHER KITS 1% O/S TATA 1312
P.S WASHER KITS 2™ O/S TATA 1312
P.S WASHER KITS 3" O/S TATA 1312
P.S WASHER KITS 4" O/S TATA 1312
P.S WASHER KITS 5" O/S TATA 1312
P.S WASHER KITS 6" O/S TATA 1312
P.S WASHER KITS 7" O/S TATA 1312
P.S WASHER KITS 8" O/S TATA 1312
P.S WASHER KITS 9" O/S TATA 1312

2420.00
1970.00
2860.00
890.00
1050.00
356.00
268.00
420.00
315.00

300.00

1020.00
260.00

2180.00
2300.00
2300.00
2800.00
1970.00
2860.00

890.00

1860.00
1120.00
1870.00
4200.00

3300.00
3100.00

250.00
260.00
270.00
280.00
290.00
300.00
310.00
320.00
330.00
340.00
350.00

250.00
260.00
270.00
280.00
290.00
300.00
310.00
320.00
330.00
340.00

DOz
DOZ
DOz
SET
SET
EACH
EACH
EACH
EACH

EACH

DOZ
SET

DOZ.
DOZ
DOZ
DOZ
DOZ
DOZ
SET

DOZ
DOZ
DOZ
DOZ

DOZ
DOZ

SET
SET
SET
SET
SET
SET
SET
SET
SET
SET
SET

SET
SET
SET
SET
SET
SET
SET
SET
SET
SET




H-1121

H-1130
H-1131
H-1132
H-1133
H-1134
H-1135

H-1140
H-1141
H-1142
H-1143
H-1144
H-1145

H-1150
H-1151
H-1152
H-1153
H-1154
H-1155
H-1156
H-1157
H-1158
H-1159
H-1160

H-1161
H-1162
H-1163
H-1164
H-1165
H-1166

H-1170
H-1171
H-1172
H-1173
H-1174
H-1175
H-1176
H-1177
H-1178
H-1179
H-1180

H-1190
H-1191
H-1192
H-1193
H-1194
H-1195

P.S WASHER KITS 10" O/S

P.S WASHER KITS STD. SIZE

P.S WASHER KITS 1% O/S
P.S WASHER KITS 2™ O/S
P.S WASHER KITS 3" O/S
P.S WASHER KITS 4" O/S
P.S WASHER KITS 5" O/S

P.S WASHER KITS STD. SIZE

P.S WASHER KITS 1% O/S
P.S WASHER KITS 2™ O/S
P.S WASHER KITS 3" 0/S
P.S WASHER KITS 4" O/S
P.S WASHER KITS 5" O/S

TATA 1312
TATA 407
TATA 407
TATA 407
TATA 407
TATA 407
TATA 407
TATA 407
TATA 608
TATA 608
TATA 608
TATA 608
TATA 608
TATA 608
TATA 608

LEYLAND COMMET

P.S WASHER KITS STD. SIZE (CUT/ RIVET TYPE)
P.S WASHER KITS 1* O/S (CUT/ RIVET)
P.S WASHER KITS 2™ O/S (CUT / RIVET)
P.S WASHER KITS 3“ O/S (CUT / RIVET)
P.S WASHER KITS 4" O/S (CUT / RIVET)
P.S WASHER KITS 5" O/S (CUT/ RIVET)
P.S WASHER KITS 6" O/S (CUT/ RIVET)
P.S WASHER KITS 7"0/S (CUT / RIVET)
P.S WASHER KITS 8" O/S (CUT / RIVET)
P.S WASHER KITS 9" O/S (CUT / RIVET)
P.S WASHER KITS 10" O/S (CUT / RIVET)

P.S WASHER KITS STD. SIZE

P.S WASHER KITS 1% O/S
P.S WASHER KITS 2™ O/S
P.S WASHER KITS 3" O/S
P.S WASHER KITS 4" O/S
P.S WASHER KITS 5" O/S

P.S WASHER KITS STD. SIZE

P.S WASHER KITS 1 O/S
P.S WASHER KITS 2™ O/S
P.S WASHER KITS 3 O/S
P.S WASHER KITS 4" O/S
P.S WASHER KITS 5" O/S
P.S WASHER KITS 6" O/S
P.S WASHER KITS 7" O/S
P.S WASHER KITS 8" O/S
P.S WASHER KITS 9" O/S
P.S WASHER KITS 10" O/S

P.S WASHER KITS STD. SIZE

P.S WASHER KITS 1% O/S
P.S WASHER KITS 2™ O/S
P.S WASHER KITS 3 O/S
P.S WASHER KITS 4" O/S
P.S WASHER KITS 5" O/S

TATA 3516/3416

TATA 2416
TATA 2416
TATA 2416
TATA 2416
TATA 2416
TATA 2416
TATA 2416
TATA 2416
TATA 2416
TATA 2416
TATA 2416
TATA 2416
TATA 2515 EX
2515 EX
2515 EX
2515 EX
2515 EX
2515 EX
2515 EX
TATA 1613 TURBO

350.00

156.00
162.00
168.00
175.00
181.00
188.00

200.00
206.00
216.00
226.00
236.00
246.00

574.00
594.00
614.00
634.00
654.00
674.00
694.00
714.00
734.00
754.00
774.00

394.00
404.00
414.00
424.00
434.00
444.00

354.00
364.00
374.00
384.00
394.00
404.00
414.00
424.00
434.00
444.00
454.00

354.00
364.00
374.00
384.00
394.00
404.00

SET

SET
SET
SET
SET
SET
SET

SET
SET
SET
SET
SET
SET

SET
SET
SET
SET
SET
SET
SET
SET
SET
SET
SET

SET
SET
SET
SET
SET
SET

SET
SET
SET
SET
SET
SET
SET
SET
SET
SET
SET

SET
SET
SET
SET
SET
SET




H-1200
H-1201
H-1202
H-1203
H-1204
H-1205

H-1211
H-1212
H-1213
H-1214
H-1215
H-1216

H-1220
H-1221
H-1222
H-1223
H-1224
H-1225
H-1226
H-1227
H-1228
H-1229
H-1230

H-1231
H-1232
H-1233
H-1234
H-1235
H-1236

H-1240
H-1241
H-1242
H-1243
H-1244
H-1245

H-1250
H-1251
H-1252
H-1253
H-1254
H-1255
H-1256

H-1280
H-1281
H-1282
H-1283

H-1290
H-1291

P.S WASHER KITS STD. SIZE 1613 T.C.

P.S WASHER KITS 1% O/S 1613 T.C
P.S WASHER KITS 2™ O/S 1613 T.C
P.S WASHER KITS 3 0/S 1613 T.C
P.S WASHER KITS 4" O/S 1613 T.C
P.S WASHER KITS 5" O/S 1613 T.C
HYWA
P.S WASHER KITS STD. SIZE HYWA
P.S WASHER KITS 1% O/S HYWA
P.S WASHER KITS 2™ O/S HYWA
P.S WASHER KITS 3" O/S HYWA
P.S WASHER KITS 4" O/S HYWA
P.S WASHER KITS 5" O/S HYWA

PINION STAR WASHER “BIG” ONLY 1210 SE &1312

P.S WASHER KITS STD. SIZE
P.S WASHER KITS 1% O/S
P.S WASHER KITS 2™ O/S
P.S WASHER KITS 3" O/S
P.S WASHER KITS 4th O/S
P.S WASHER KITS 5" O/S
P.S WASHER KITS 6" O/S
P.S WASHER KITS 7"0/S
P.S WASHER KITS 8" O/S
P.S WASHER KITS 9" O/S
P.S WASHER KITS 10" O/S
PINION STAR WASHER “BIG” ONLY TATA 2416
P.S WASHER KITS STD. SIZE
P.S WASHER KITS 1% O/S
P.S WASHER KITS 2™ O/S
P.S WASHER KITS 3" O/S
P.S WASHER KITS 4" O/S
P.S WASHER KITS 5" O/S
PINION STAR WASHER “BIG” ONLY TATA 2515 EX
P.S WASHER KITS STD. SIZE
P.S WASHER KITS 1% O/S
P.S WASHER KITS 2™ O/S
P.S WASHER KITS 3 0/S
P.S WASHER KITS 4" O/S
P.S WASHER KITS 5" O/S
PINION STAR WASHER “SMALL” ONLY
P.S WASHER 1210 SE TELCO TYPE /1312
P.S WASHER 1210 SE (ORDINARY) 1312
P.S WASHER LEYLAND SMALL (CUT / RIVET)
P.S WASHER SMALL 2416
P.S WASHER SMALL 2515 EX
P.S WASHER SMALL TATA 1613 TURBO

P.S WASHER SMALL HYWA
BELL CRANK WASHERS TATA 2416
B.C WASHER 2416 (74X42X4mm)
B.C WASHER 2416 (74X42X5mm)
B.C WASHER 2416 (74X42X6mm)
B.C WASHER 2416 (74X42X7mm)
KAMANI WASHERS TATA 2416

KAMANI WASHER (74X35X4mm)

KAMANI WASHERS (74X35X5mm)

354.00
364.00
374.00
384.00
394.00
404.00

286.00
296.00
306.00
316.00
326.00
336.00

108.00
114.00
120.00
126.00
132.00
138.00
144.00
150.00
156.00
162.00
168.00

146.00
152.00
158.00
164.00
170.00
176.00

146.00
152.00
158.00
164.00
170.00
176.00

35.00
23.00
90.00
39.00
39.00
39.00
39.00

346.00
378.00
410.00
440.00

368.00
400.00

SET
SET
SET
SET
SET
SET

SET
SET
SET
SET
SET
SET

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH

DOZ
DOZ
DOZ
DOZ

DOZ
DOZ




H-1292 KAMANI WASHERS (74X35X6mm) 430.00 DOz

H-1293 KAMANI WASHERS (74X35X7mm) 462.00 DOZ
SPRING WASHER 1210 SE/1312
H-1300 FRONT SPRING WASHER (25X 2MM) 60.00 DOZ
H-1301  FRONT SPRING WASHER (25X 4MM) 180.00 DOZ
H-1302 FRONT SPRING WASHER (25X 5MM) 200.00 DOZ
H-1303 FRONT SPRING WASHER (25X 6MM) 220.00 DOZ
H-1304 REAR SPRING WASHER (30 X 2MM) 60.00 DOZ
H-1305 REAR SPRING WASHER (30 X 4MM) 178.00 DOZ
H-1306 REAR SPRING WASHER (30 X 5MM) 200.00 DOZ
H-1307 REAR SPRING WASHER (30 X 6MM) 220.00 DOZ
SPRING WASHER TATA 407
H-1320 REAR/FRONT SPRING WASHER 407 (20 X 2MM) 34.00 DOZ
H-1321 REAR/FRONT SPRING WASHER 407 (20 X 4MM) 88.00 DOZ
H-1322 REAR/FRONT SPRING WASHER 407 (20 X 5MM) 92.00 DOz
H-1323 REAR /FRONT SPRING WASHER 407 (20 X 6MM) 98.00 DOZ
COIL SPRING
H-1350 ACCELERATOR SPRING 1210 160.00 DOZ.
H-1351 ACCELERATOR SPRING 2416 210.00 DOZ.
H-1352 ACCELARATOR SPRING 1510 168.00 DOZ.
H-1353 ACCELARATOR SPRING 1612 210.00 DOZ.
H-1354 ACCELARATOR SPRING 1109 190.00 DOZ.
H-1355 ACCELARATOR SPRING 1613 TURBO BIG 210.00 DOZ.
H-1356 = ACCELARATOR SPRING 1613 TURBO SMALL 136.00 DOZ.
H-1357 ACCELARATOR SPRING 2515 EX BIG 210.00 DOZ.
H-1358 ACCELARATOR SPRING 2515 EX SMALL 126.00 DOZ
H-1359 ACCELARATOR SPRING LEYLAND 210.00 DOZ.
H-1360 ACCELARATOR SPRING 709 T.C 190.00 DOZ.
H-1361 ACCELARATOR SPRING 709 190.00 DOZ
H-1362 ACCELARATOR SPRING ACE 126.00 DOZ.
H-1370 TIE ROD SPRING 1210 86.00 DOZ
H-1371  DRAG LINK SPRING 1210 106.00 DOZ
H-1372 CLUTCH SPRING 1210 370.00 DOZ
H-1373 CLUTCH SPRING 1210 D 370.00 DOZ.
H-1374 CLUTCH SPRING SE BIG 526.00 DOZ.
H-1375 CLUTCH SPRING SE SMALL 380.00 DOZ.
H-1376 CLUTCH SPRING 407 252.00 DOZ.
H-1377 CLUTCH SPRING 1510 368.00 DOZ.
H-1378 CLUTCH SPRING 1109 294.00 DOZ.
H-1379 CLUTCH SPRING 1613 TURBO 294.00 DOZ.
H-1380 CLUTCH SPRING 2515 EX 294.00 DOZ.
H-1381 CLUTCH SPRING LEYLAND 370 568.00 DOZ.
H-1382 CLUTCH SPRING ACE 294.00 DOZ.
H-1383 CLUTCH SPRING 709 316.00 DOZ.
H-1384 CLUTCH FINGER SPRING GB 40 94.00 DOZ.
H-1385 CLUTCH SPRING 1616 T.C. THIN 294.00 DOZ.
H-1390 PRESSURE PLATE SPRING 1210 274.00 SET
H-1391 PRESSURE PLATE SPRING SE 284.00 SET
H-1392 PRESSURE PLATE SPRING GB-40 (WITH BUSH) 526.00 SET
H-1393 PRESSURE PLATE SPRING 1612 (Set of 12) 526.00 SET
H-1394 PRESSURE PLATE SPRING 1613 TURBO (Set of 16) 570.00 SET
H-1395 PRESSURE PLATE SPRING 2515 EX (Set of 21) 736.00 SET
H-1396 PRESSURE PLATE SPRING LEYLAND 570.00 SET
H-1397 PRESSURE PLATE SPRING 1613 T.C. (Set of 19) 530.00 SET

H-1398 BRAKE PADDLE SPRING 2416 504.00 DOZ.




H-1399
H-1400
H-1401
H-1402

H-1403
H-1404
H-1405
H-1406
H-1407
H-1408
H-1409
H-1410
H-1411
H-1412
H-1413
H-1414
H-1415
H-1416
H-1417
H-1418
H-1419
H-1420
H-1421
H-1422
H-1423
H-1424
H-1425
H-1426
H-1427
H-1428
H-1429
H-1430
H-1431

H-1450

H-1451
H-1452
H-1453
H-1454
H-1455
H-1456
H-1457
H-1458
H-1459
H-1460
H-1461
H-1462
H-1463

H-1465
H-1466

BRAKE PADDLE SPRING ACE
BRAKE PADDLE SPRING 1210
BRAKE PADDLE SPRING SE
BRAKE PADDLE SPRING 407

FRONT BRAKE SPRING SE
REAR BRAKE SPRING SE
REAR BRAKE SPRING 1210 D
FRONT BRAKE SPRING 407 BIG
FRONT BRAKE SPRING 407 SMALL
REAR BRAKE SPRING 407 BIG
REAR BRAKE SPRING 407 SMALL
REAR BRAKE SPRING TATA 2416
FRONT BRAKE SPRING TATA 2416
REAR BRAKE SPRING 1510 SMALL
REAR BRAKE SPRING 1510 BIG
FRONT BRAKE SPRING 1510
REAR BRAKE SPRING 1109
FRONT BRAKE SPRING 1109
REAR BRAKE SPRING 1613 TURBO
FRONT BRAKE SPRING 1613 TURBO
REAR BRAKE SPRING 2515 EX BIG
REAR BRAKE SPRING 2515 EX SMALL
FRONT BRAKE SPRING 2515 EX BIG
FRONT BRAKE SPRING 2515 EX SMALL
REAR BRAKE SPRING 709
REAR BRAKE SPRING 709 T.C
FRONT BRAKE SPRING 709
FRONT BRAKE SPRING 709 T.C
REAR BRAKE SPRING LEYLAND BIG
REAR BRAKE SPRING LEYLAND SMALL
FRONT BRAKE SPRING LEYLAND (HINNO)
REAR BRAKE SPRING LEY. CHEETAL STAG
FRONT BRAKE SPRING LEY. CHEETAL STAG
STEPNI WIRE
STEPNI WIRE
BEARINGS
KING PIN BEARING
KING PIN BEARING T-144 (Roller / Ball type) TATA1210
KING PIN BEARING T-142 (Roller / Ball type) TATA 1210
(
(

)
KING PIN BEARING T-140 (Roller / Ball type) TATA 1210
KING PIN BEARING T-138 (Roller / Ball type) TATA 1210
KING PIN BEARING T-151 (Roller / Ball type) TATA 1312
KING PIN BEARING T-152 (Roller / Ball type) TATA 1312
KING PIN BEARING T-153 (Roller / Ball type) TATA 1312
KING PIN BEARING T-101 (Roller / Ball type) TATA 407
KING PIN BEARING T-103 (Roller / Ball type) TATA 407
KING PIN BEARING T-119 (Roller / Ball type) TATA 608
KING PIN BEARING T-121 (Roller / Ball type) TATA 608
KING PIN BEARING CANTER (Roller type)

KING PIN BEARING CANTER (Ball type)

THRUST BEARING (BRASS)

THRUST BEARING 35.00 SIZE TATA 1210
THRUST BEARING 35.3 SIZE TATA 1210

232.00
570.00
570.00
260.00

126.00
126.00
526.00
252.00
232.00
252.00
232.00
504.00
126.00
360.00
126.00
96.00
76.00
88.00
84.00
94.00
94.00
378.00
126.00
526.00
316.00
76.00
88.00
88.00
88.00
76.00
88.00
54.00
70.00

68.00

168.00
168.00
168.00
168.00
224.00
224.00
224.00
116.00
116.00
122.00
122.00
122.00
122.00

400.00
400.00

DOZ.
DOZ.
DOZ.
DOZ.

EACH
EACH
DOZ.
DOZ.
DOZ.
DOZ.
DOZ.
DOZ.
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
DOZ.
EACH
DOZ.
DOZ.
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH




H-1467
H-1468
H-1469
H-1470
H-1471
H-1472
H-1473
H-1474
H-1475
H-1476
H-1477

H-1480
H-1481
H-1482
H-1483
H-1484
H-1485
H-1486
H-1487
H-1488
H-1489
H-1490
H-1491
H-1492
H-1493
H-1494
H-1495

THRUST BEARING 35.6 SIZE TATA 1210
THRUST BEARING 35.9 SIZE TATA 1210

THRUST BEARING 1312 S/S
THRUST BEARING 1312 O/S
THRUST BEARING 407 S/S
THRUST BEARING 407 O/S
THRUST BEARING 608 S/S
THRUST BEARING 608 O/S
THRUST BEARING CANTER
TAPER BEARING JEEP
THRUST BEARING ACE

-16 STEEL
-17 STEEL
-18 STEEL
-19 STEEL
-20 STEEL
-14 BRASS
-15 BRASS
-16 BRASS
-17 BRASS
-18 BRASS
-19 BRASS
20 BRASS
21 BRASS
22 BRASS
23 BRASS
-24 BRASS

0
0
0
0
0
0
0
0
0
0
0
0
0
0
0
0

JACK BEARING

400.00
400.00
540.00
540.00
280.00
280.00
310.00
310.00
280.00
220.00
236.00

204.00
234.00
260.00
326.00
354.00
258.00
268.00
304.00
340.00
380.00
440.00
456.00
600.00
650.00
724.00
744.00

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

